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Find lim (V22 4+ x — Va? — z).

T—00

Find an equation for the tangent to the curve y = a* — dx + 1 at the point. (2, 1).

T t'z
dt.

1
Find lim —
! z—0 :CB 0 f'll + 1

Evaluate the i int 1/00 e
Fvaluate the improper integra e

W . Jog 22452 +6
The region bounded by the curve y = \/z, the z-axis, and the line x'= 4 is revolved (AEI# )

about the z-axis to generate a solid. Find the volume(##%&) of the solid.

Find the length of the curve r = /1 4+ cos20, 0 < 0 < 2.

. : : "
I'ind the interval of convergence of the series E

/2 '
n=0 n?+3
I'ind the derivative of f(x,y) = ze¥ + cosxy at the point (2,0) in the direction v = 3i —4j.

sin x

Calculus the iterative integral / / " dr dy.

2 pq/(In2)2—y2 .
Calculus the iterative integral / / eV¥HY® dudy.
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Show that for any real number a and b, the inequality |sind — sina| < |b — al.is true.

T
x2 41

Sketch the curve(EBFFEE) y =

Find the maximum and minimum values of the function f(z,y) = = + 2y subject to the
constraints x4y + = 1 and y* + 2* = 4.

Find the volume(#2 &) of the region D enclosed by the surfaces z = z? + 3y? and z =

B e g o= 92,




